AGA-RAYBURN
COALBROOKDALE SPARES PRICE LIST
EFFECTIVE FROM JULY 2004

Contents

AGA-RAYBURN COALBROOKDALE SPARES PRICE LIST EFFECTIVE FROM JULY 2004 .........ccooviiiiiiiiiieeeeeeeeeeeiiinen,
A3C DOORS 1047 PO PP OPTPPPRPPRPRTY
O = N O (G o N I O = 1 I TP PP P T PP PPPTTPRRPTY
A5C CATCHES (T PO TP PP PP UPPRPRPPOY
ABC FRONT PLATE  CBD ..oiiiiiiiiiiiiiiiie ettt ettt e et e st e e 4 st oo 4 st e e 4Rt e e oR e et oo 4R e e e oo e R et e oo a Rt e e s aaR e e e s ean et e e e s re e e e e nneeeenennneeenanreeeenn
O O T I I 0 I PP P RPN
B3C RIDDLING PARTS CBD ... ..iiiiiiiiiiiee ittt s e e oottt e e sttt e e 4 st e e ok et e oo es et e oo em e e e e e R et e e e R et e e e R R et e e e s Ee e e e e asne e e e e anreeeeeannneeeeanreeesannreeenan
1S TGS 1D e I I 0 T OO PPRY
O Y] i o N I 1 I OO PPRY
BOC FLUE DIVERTOR CBD ....iiiiiiiitiiie ettt ettt e o1t e e o1t e e o4 st e e o4 s et e oo s et e e eee e oo e s et e e e R et e e e R R et e e e s R e e e e e asr e e e e e ennee e e e annneeesannreeenannreeenan
O3 O o W Y o S O = PO PP PP PP PUTPPPRTPR PRI
CAC CBD BNR SPARES GAS ...ttt ettt e e oo sttt e e e e 4o s b e e ettt e e e 1 e s s b e e et e e e oo ab b e e e et e e e e e o1 s bR e R e e et e e e e e 1 aeE e ee e et e e e e e s aa b b nn e e e e e e e e e snnnnree,
T3C ACCESSORIES  CBD ...ciiiiiiiiiiiiiiiiiii ittt ettt e e e o4 s ettt e e e 4o 1 b E e e ettt e e e 4o 1 s R R be e e e 4441 e b b e e e e et e e e oo 1aa e R e R e e et e e a4 e 1R E bR e e et e e e e e st nneee e e e e e e nannree,
4 O o | 2] =1 =] ] (08 [ T 1 = 1 PP PP PO PPRUPR PRI
76C ASHPANS L4 = TP O PP PPPTTPR PP
78C GRATES 1O = 5 TP TP PP PP
TIC GRATE FRAMES  CBD ...oiiiiiiiiieiiieie ettt e et ettt e e ettt e e s s et e o4t e e e e 42 s et e e 4R e et e e 4R e et e e s R e e e e e aR R e e e e e eeEe e e e e aeEee e e e aanee e e e aanee e e e aneeeeenanneeeesannneeesnnnnees,
BO0C BOTTOM BARS  CBD ....iciiiiiiiiiiie ittt ettt ettt oo ettt e e e et e oo e s et e 4 es s et e 4 as R e et oo oa Rt oo ea R e et e e ea R e et oo ea R e et e oo R et e e e s ne e e e s asne et e s annne e e e nnnneeeennnneeenanne,
S O (@ LN I = 7Y o T 0 1 I PO PT PR PR
B2C DOOR GLASS  CBD.iiiiiiiiii ittt ittt ettt e et e e ettt e o ae s et e e sa R et e e aa R et oo AR et oo e R et e oA e et e e AR R e et oo AR R et e e e R e et e e R R e et e n R ee e e n e R et e s e n et e e e ne e e e nnnneeennn,
86C THERMOSTATS  CBD ...iiiiiiiiiiiiie ittt ettt e sttt e e st e e ettt e e s s et oo ea s et oo 1a s et e e am s e et e e sa R e e e e aa R e et e e aa R et e e na R e et e e eaR e et e e ns e et e s amne et e s s nneeeennnneeeennnneeennnne,
88C BOILER BODIES CBD......ciiiiiiiiiiie ittt s et ettt e e ettt e e st e e s st oo 1ttt o4 s e et oo Re e oo eR R e et e e eR R et e oo R R et e e e R e et e e R e et e n R R e et e e e n e e e e anne e e e n e e e e nnn
O0C BURNER UNITS  CBD ...ttt ettt e e e+ oottt e e o4 4o bbb e e et e e e 4o 1 b b e e et e e e e 44 ek bbb e e et et e e e 4 e aa b bR a e e e et e e e sa e b bbb e e e e e e e e s s e enrnnneeaeeesnaas
O5C INSULATION  CBD iiiiiiiiiiiiiiiiti ettt e e e st e et e e 44 b e et e e e e e 4 e s bbb e e et e e e s bbb e e et e e e e 4 4o h bR R e e et a4 e e e 4o ea b bR e e e e et e e e s e e bbb e e e e e e e e s s e asnnnneeeneeenenan
OOC MISC SPARES  CBD ...ttt ettt e oottt e e e 4 4o b et e e e e o4 e e bbb e e et et e e eh b bR e e et e e e e e 4ok bR e e et a4 e e e 4 e ea bR a e et e te e e s e e bbb e e et e e e e e s e e e e e neeene s



A3C DOORS CBD

Description Catalogue No  Product Code

AIR INLET SPINNER DARBY C1113 HS4M-D323

AIR INLET SPINNER BRASS LITTLE/MUCH WENLOCK C1307 HS4M43455

AIR INLET SPINNER C.I. LW MK1 & M/WENLOCK C1170 HS5M-WB5009
ALLTHREAD M6 X 30MM LITTLE WENLOCK & GS1 C1295 KSTD52102
ALTHREAD M8 X 32MM DRILLED ASHPIT DOOR SPINNER ADJ L.WENLOCK,DARBY NB C1296 KSTD52804
ALTHREAD M8 X 38MM DRILLED ASHPIT DOOR SPINNER DARBY BLR MODEL C1539 KSTD52100
ALTHREAD M8 X 38MM S/S DRILLED MUCH WENLOCK STOVE C1546 KSTD500008
ASHPIT DOOR MK2 MUCH WENLOCK C1556 HS5M403003
ASHPIT DOOR HINGE BRACKET DARBY Cl116 HS5M-D327
ASHPIT DOOR HINGE PIN DARBY C1059 HS4M37867
ASHPIT DOOR ONLY DARBY Cc1107 HS5M-D314-1
ASHPIT DOOR SPINNER ALTHREAD ROLL PIN 1/8"X 3/4" LITTLE WENLOCK C1289 KCTR37873

FIRE DOOR ASSEMBLY L.H. - BOILER MODEL SEVERN C1624 HS9M400058COMP
FIRE DOOR HINGE PINS M.WEN,SEVERN,DARBY C1250 HS9M37862PR
FIRE DOOR L.H. (NEW TYPE HINGE PIN ON DOOR FRAME) DARBY C1470 HS5M401013

FIRE DOOR R.H. (NEW TYPE HINGE PIN ON DOOR FRAME) DARBY C1469 HS5M401015

FIRE DOOR SUB-ASSEMBLY L.H. (NEW TYPE) DARBY C1685 HS9M401013COMP
FIRE DOOR SUB-ASSEMBLY L.H. (OLD TYPE) DARBY C1204 HS9M-D312COMP
FIRE DOOR SUB-ASSEMBLY R.H. (NEW TYPE) DARBY C1686 HS9M401015COMP
FIRE DOOR SUB-ASSEMBLY R.H. (OLD TYPE) DARBY C1203 HS9M-D311COMP
FIREDOOR & ASHPIT DOOR OPERATING SHAFT DARBY & SEVERN C1061 HS4M37869
FIREDOOR C/W GLASS & HINGE PINS - ORIGINAL COALBROOKDALE GS1 C1326 HG9M410001COMP
FIREDOOR C/W GLASS & HINGE PINS - TRADITIONAL COALBROOKDALE GS1 C1327 HG9M410056COMP
FIREDOOR COMPLETE LITTLE WENLOCK MK2 C1228 HS9M1-18219COMP
FIREDOOR COMPLETE - AIR WASH LITTLE WENLOCK MK2 C1397 HS9M405014COMP
FIREDOOR COMPLETE - AIR WASH LITTLE WENLOCK MK3 C1673 HS9M405040COMP

FIREDOOR COMPLETE (AIR-WASH) MUCH WENLOCK MK2 C1528 HS1M999423



Description
FIREDOOR COMPLETE (OLD TYPE)

FIREDOOR HINGE BLOCK - SINGLE

FIREDOOR HINGE PIN

FIREDOOR ONLY S/M J0038725

FIREDOOR SEALING CHANNEL - HORIZONTAL (SHORT)
FIREDOOR SEALING CHANNEL - VERTICAL

GLASS RETAINING FRAME MK1

GLASS RETAINING FRAME MK2

GLASS RETAINING FRAME LH

GLASS RETAINING FRAME RH

GLASS RETAINING PLATE

GLASS RETAINING PLATE MK2

M8 SHOULDER SCREW - DOOR CATCH PIN

PIN - DOOR RETAINING

PIN BISSEL M6 X 20MM LONG

PR M5 X 12MM HX SET S/S

PR M5X8MM HX SET SCREW S/S

PR M8 SQ PRESSED STEEL NUTS 4/17450

PRIMARY AIR BLANKING PLATE

PRIMARY AIR SLIDE FRAME

RIDDLING HOLE BLANKING KIT ( FOR WOOD BURNING)
SCREW M6 X 10MM SOCKET GRUB - DOOR HINGE

SET OF 2 ASHPIT DOOR HINGE PIN SCREWS

SET OF 4 BOLTS & WASHERS FOR GLASS RETAINING FRAME
SET OF 6 GLASS RETAINING CLIPS

SET OF WASHERS/BOLTS FOR GLASS RET FRAME ON F/DOOR
SPINNER ALTHREAD & ROLL PIN

WASHER M5 PLAIN z/P

MUCH WENLOCK MK2
SEVERN & GS3I STOVES
L/WENLOCK STOVE
LITTLE WENLOCK MK3
SEVERN STOVE
SEVERN STOVE

MUCH WENLOCK

MUCH WENLOCK
DARBY

DARBY

LITTLE WENLOCK MK1
LW MK2,GS1,0S1 STOVE
GS1,MW MK2 STOVES
L/WEN & M/WEN

MUCH WENLOCK STOVE
L/WENLOCK STOVES
L/WENLOCK STOVES
LITTLE WENLOCK
SEVERN BLR MODEL
SEVERN STOVE

L/WENLOCK STOVES MK3

SEVERN STOVE

MUCH WENLOCK
DARBY, LW STOVE
SEVERN STOVE

LITTLE WENLOCK
LITTLE WENLOCK MK2
MUCH WENLOCK STOVE

Catalogue No

Product Code

C1227
C1157
C1639
C1634
C1775
Cl774
C1129
C1173
C1471
C1106
C1168
C1175
C1372
C1417
C1548
C1290
C1291
C1294
Ci1277
C1154
C1642
A4101
C1270
C1264
C1241
C1260

C1553

HS9MO0-19100COMP
HS5M-5428
HS4M37862
HS5M405040
JAPR400055
JAPR400054
HS5M-MwW211
HS5M1-19134
HS5M-D313LH
HS5M-D313RH
HS5M-WB5007
HS5M3-18223
HG4M410029
HS4M405018
KCTR37842
KHEX50903PR
KHEX50905PR
KNUT53055PR
HS1M90373
HS5M-S421
HSOM52327KIT
KGRB50512
HS9M52306SET2
HS9M50915SET4
HS9M26305SET6
HS9M50903COM
HS9M37873COMP
KWSR53399



A4C BACK PLATE CBD

Description

ALTHREAD 3/8" X 1" LONG
BACK PLATE
BACK PLATE
BACKPLATE

MUCH WENLOCK STOVE
MUCH WENLOCK NON-BLR
LITTLE WENLOCK MK2
DARBY

Catalogue No

Product Code

C1407
C1376
C1465

KSTD52080

HS5M403001
HS5M405006
HS5M401003



A5C CATCHES CBD

Description

ASHPIT DOOR CATCH

ASHPIT DOOR CATCH ASSEMBLY

DOOR CATCH - BRASS FOR LITTLE WENLOCK MK2
DOOR CATCH CAP - BRASS

DOOR HANDLE (AIR WASH)

FIREDOOR CATCH

FIREDOOR CATCH

FIREDOOR CATCH ASSEMBLY

FIREDOOR CATCH ASSEMBLY

FIREDOOR CATCH ASSEMBLY CURRENT PATTERN
FIREDOOR CATCH C/W SCREW

FIREDOOR CATCH ROLL PIN 3/16"X 3/4"

FIREDOOR CATCH SCREW M6 X 8MM X 16MM (OLD TYPE)
FIREDOOR CATCH SCREW M8 X 8MM X 16MM (NEW TYPE)
SHOULDER SCREW STUD M6 - FIREDOOR CATCH

MUCH WENLOCK
DARBY STOVE

GS1 GS2

L.WEN & GS1 STOVE
L.WENLOCK STOVE
GS3l STOVE

MUCH WENLOCK
SEVERN STOVE
LITTLE WENLOCK MK2
DARBY

MUCH WENLOCK
DARBY & SEVERN
MUCH WENLOCK
MUCH WENLOCK
GS1,M/WENLOCK STOVE

Catalogue No

Product Code

C1169
C1384
C1551
C1354
C1526
C1418
C1140
C1213
C1236
C1208
C1211
C1288
C1531
C1293
C1373

HS5M-WB5008
HS5M-D335-1-AGA
HG4M413080
HG4M410036
HS5V405016
HG5M414070
HS5M-MW241
HS9M-S424COM
HS9M26003
HS9M-D334-1
HS9M-MW241COMP
KCTR37859
KMIS52370
KMIS52301
HG4M410037



A6C FRONT PLATE CBD

Description Catalogue No Product Code
FRONT PLATE ONLY AIRWASH MUCH WENLOCK MK2 C1736 HS5M403012

LOCKNUT M8 STAINLESS STEEL MUCH WENLOCK STOVE C1550 KNUT52663



B1C TOP PLATE CBD

Description

GASKET - CANOPY SIDE

MOD TOP PLATE C/W TOP PROTECTION PLATE & FITTINGS
MOD TOP PLATE C/W TOP PROTECTION PLATE & FITTINGS
PROTECTION PLATE - MK1 MOD TOP PLATE

SCREW M6X16MM LG HEX SET FOR TOP-PLATE

SET OF FASTENINGS FOR FIXING TOP PLATE FOR

TOP PLATE

TOP PLATE

TOP PLATE - SCALLOPPED

TOP PLATE (BLR & NON-BLR)

TOP PLATE C/W AIR FLUE COLLAR - SOLID FUEL

TOP PLATE FOR LITTLE WENLOCK TOTAL CONTROL STOVE
TOP PROTECTION PLATE

WREKIN STOVE

MUCH WENLOCK MK1
MUCH WENLOCK MK2
MUCH WENLOCK BLR MOD
MUCH WENLOCK
LITTLE WENLOCK MK2
MUCH WENLOCK MK1
SEVERN MF

GS1 STOVE

LW MK2 & OS1 STOVE
LITTLE WENLOCK MK1
L/W TOTAL CONTROL
MUCH WENLOCK

Catalogue No

Product Code

C1492
C1306
C1305
C1179
C1312
C1683
C1125
C1143
C1339
C1324
C1224
C1800
C1137

HG4M413062
HS9M-MW202COM
HS9M-MW202COMP
HS5M3-19289
HS9M50914SET2
HSOM50941SET
HS5M-MW202
HS5M-5402
HG5M410047
HS5M405005
HS9MWB500-5COM
HG5M410278
HS5M-MW 226



B3C RIDDLING PARTS CBD

Description

BLANKING PLUG - FOR WOODBURNING USE
RIDDLING ASSY

RIDDLING BUSH

RIDDLING KNOB

RIDDLING PIN

RIDDLING PIN

ROCKER CONNECTOR (RIDDLING ASSY)

LITTLE WENLOCK
LITTLE WENLOCK MK2
SEVERN

DARBY

SEVERN

DARBY

MUCH WENLOCK MK2

Catalogue No

Product Code

C1258
C1043
C1067
C1056
C1060
C1308

HS9M52327COMP
HS9M41101COMP
HS4M24176
HS4M40814
HS4M37837
HS4M37868
HS4M26850



B5C SIDE PLATE CBD

Description Catalogue No Product Code
COAL PLAQUE OIL LITTLE WENLOCK. OIL LITTLE WENLOCK C1737 HO4M408089
FIREBOX SIDE RH (BOILER MODEL) DARBY Cl122 HS5M-D388

SIDE PANEL RIGHT HAND OR LEFT HAND GS1,LW MK2,0S1 STOVE C1309 HS5M405000



B7C BASE PLATE CBD

Description Catalogue No Product Code

BASEPLATE FOR BLR & NON-BLR LITTLE WENLOCK MK2 C1374 HS5M405008



BO9C FLUE DIVERTOR CBD

Description

BRACKET - CONTROL COVER SUPPORT P/F
DOWN DRAUGHT DIVERTER

DOWN DRAUGHT DIVERTOR BOX

FAN :CABLE MODIFIED T/S GS1 PF

FLUE TUBE CONNECTOR P/F

SCREW M6 X 35MM HEX SET S/S

GS1I STOVE

WENLOCK GAS MK2/GS1
COALBROOKDALE GS2
GS1l STOVE

GS1l| STOVE

DARBY STOVES

Catalogue No

Product Code

C1588
C1009
C1383
C1704
C1574
C1379

HG2Vv410138
HG4M28350
HG2Vv412032
HG4M410245
HG5M410166
KHEX50941



Cl1C FLUE PARTS CBD

Description

BAFFLE PLATE

BAFFLE PLATE - NON BLR MODEL

BAFFLE PLATE - SECURING CLIP & BOLT

BAFFLE PLATE CHROME IRON

BAFFLE PLATE FRAME

BAFFLE PLATE FRAME

BAFFLE PLATE-BOILER MODEL-

BLANKING DISC

BLANKING DISC - 5"

BLANKING PLATE TOP/REAR-NON BLR - TOP BOILER MODEL
FLUE CLEANING DOOR

FLUE COLLAR - 5"

FLUE COLLAR HOME MARKET

FLUE COLLAR 4"

FLUE COLLAR 8"

FLUE OUTLET BLANKING PLATE STRAP C/W STUD
NOZZLE FOR C.I.PIPE 8"

REAR BLANKING PLATE - C/W SECURING CLIP & BOLT
SET OF 2 SCREWS C/W WASHERS - FLUE SPIGOT

SET OF 4 M6 X 30MM LG ALLTHREAD STUDS

SPACER & BAFFLE SUPPORT-NON BLR RH

T' BOLT TO SUIT BLANKING PLATE

THROAT PLATE HANDLE C/W 2 SCREWS TO SUIT 0-17720
THROAT RESTRICTOR PLATE

TOP PLATE TO MAIN BODY SECURING STUDS,NUTS & WSHRS

DARBY

SEVERN MF

LITTLE WENLOCK MK1/2
MUCH WENLOCK

DARBY

SEVERN STOVE
SEVERN STOVE

MUCH WENLOCK/SEVERN
LITTLE WENLOCK MK2
LITTLE WENLOCK MK1
MUCH WENLOCK. DARBY
LW MK2 & OS1 STOVE
MW MF. SEVERN MF
LITTLE WENLOCK MK1
DARBY

SEVERN BOILER MODEL
DARBY

LITTLE WENLOCK MK1
LITTLE WENLOCK
LITTLE WENLOCK MK2
MUCH WENLOCK

LITTLE WENLOCK MK2
SEVERN BOILER MODEL
GS1,LW MK2,0S1 STOVE
LITTLE WENLOCK MK2

Catalogue No

Product Code

C1109
C1156
C1240
C1064
C1l110
C1155
Cli7i
C1136
C1178
C1160
C1141
Cli77
C1138
Cl166
C1119
C1399
C1121
C1225
C1261
C1267
C1133
C1041
C1242
C1320
C1608

HS5M-D316-1
HS5M-5426
HS9M26300
HS4M38855
HS5M-D317-1
HS5M-S425
HS5MO0-17720
HS5M-Mw222
HS5M3-18422
HS5M-WB50011A
HS5M-MW 250
HS5M3-18421
HS5M-MW232
HS5M-WB50035
HS5M-D356
HS9M44345COMP
HS5M-D360
HS9MWB50011A
HS9M50906COM
HSOM52102SET4
HS5M-MW219
HS4M22796
HS9M3-17646
HG5M410039
HS9M52102COMP



C4C CBD BNR SPARES GAS

Description

COAL GUARD/PILOT SHIELD P/F

COALS SET L/WENLOCK TC1
CONTROL BOX C/W CONNECTIONS P/F
IGNITION LEAD

INJECTOR - BRAY CATS82 420 - NAT GAS
PIPE - PILOT FEED P/F

GS1I STOVE

L/W TOTAL CONTROL
GS1I STOVE

CBD GS3I STOVE
CBD GS1I STOVE
GS1I STOVE

Catalogue No

Product Code

C1582
C1779
C1586
C1593

C1576

FG2Vv410106

HG4M998795
HG4M410170
HG4M414072
HG4M410128
HG2M410118



73C ACCESSORIES CBD

Description

25MM X M8 HEX HEAD SCREW FOR SUPPORT LEG
CAP - OPERATING TOOL

COAL PACK - 14 LARGE, 14 SMALL & 4 FINGERS
FASCIA LEG ON SEVERN BOILER MODEL

FIRE CEMENT - BLACK - 250 GRAM TUB

FLUE PIPE 1 METRE X 50MM O/D - POWER FLUE
HANDLE - OPERATING TOOL

LEG - STANDARD

M8 X 20MM WASHER FOR SUPPORT LEG
OPERATING TOOL

OPERATING TOOL

OPERATING TOOL MK1
OPERATING TOOL MK2
OPERATING TOOL (AIR-WASH)

OPERATING TOOL ASSEMBLY - AIRWASH MK3
OPERATING TOOL C/W HANDLE

OPERATING TOOL CRADLE C/W SCREWS & WASHERS
OPERATING TOOL HOLDER - BRASS
PR M8 X 20 HX SET SCREWS
RECEIVER & REMOTE CONTROL
RIDDLING KNOB

SET OF 3"SUPPORT LEGS

SET OF 8"SUPPORT LEGS
SUPPORT LEG

SUPPORT LEG 3"

L/WENLOCK TC1

LITTLE WENLOCK MK1/2
LITTLE WENLOCK STOVE
GS1 STOVE

SEVERN STOVE

CBD GS1I STOVE

LITTLE WENLOCK STOVE
DARBY

LITTLE WENLOCK MK1/2
L/W MK2,GS1,WREKIN
LITTLE WENLOCK MK1
MUCH WENLOCK & SVRN
MUCH WENLOCK

LITTLE WENLOCK STOVE
LITTLE WENLOCK STOVE
DARBY
MW.DARBY.SEVERN
LITTLE WENLOCK MK2
DARBY STOVE

L/W TOTAL CONTROL
LITTLE WENLOCK STOVE
LITTLE WENLOCK MK1/2
LITTLE WENLOCK MK1/2
MUCH WENLOCK

LITTLE WENLOCK MK1/2

Catalogue No

Product Code

C1292
C1389
C1340
Cl174
C1298
C1555
C1391
C1311
C1297
C1018
C1214
C1210
C1259
Cl621
C1387
C1207
C1246
C1049
C1266
C1778
C1388
C1226
C1254
C1377
C1164

KHEX50909
HS4M405028
HG1M410054
HS5M3-17734
MTMC26029
HG4M410174
HS4M405026
HS5M-D330-1
KWSR53666
HS1M93003
HS9M-WB500-23CP
HS9M-MW240COMP
HS9M47520COMP
HS5V405025
HS1M405030
HS9M-D331COMP
HS9M32040COMP
HS4M32041
HS9M51385PR
HG4M410299
HS4M405029
HSOMWB50024SET4
HS9M4-WB50015
HG5M412049
HS5M-WB50024



75C FIREBRICKS CBD

Description Catalogue No  Product Code
BACK BRICK LITTLE WENLOCK MK1 C1025 HS4FLW500B
BACK BRICK MUCH WENLOCK C1394 HS4F403004

BACK BRICK FOR NON BOILER DARBY C1022 HS4FD-300-B-1
BOTTOM BRICK L.H. MUCH WENLOCK C1033 HS4FMW200LHB
BOTTOM BRICK R.H. MUCH WENLOCK C1035 HS4FMW200RHB
FIREBRICK BACK SEVERN STOVE C1038 HS4FS1-17024
FIREBRICK FRONT WB193 MUCH WENLOCK MK2 C1031 HS4FMW200F-2
FIREBRICK LH - BOILER MODEL MUCH WENLOCK C1032 HS4FMW200LH-BLR
FIREBRICK RH - BOILER MODEL MUCH WENLOCK C1034 HS4FMW200RH-BLR
FRONT BRICK MUCH WENLOCK C1030 HS4FMW200F
PAIR OF SIDE BRICKS FOR BOILER MODEL DARBY C1276 HS9M67031COM
SET OF 3 BRICKS - BOILER MODEL MUCH WENLOCK C1197 HS9F3BKS-MW
SET OF 3 FIREBRICKS SEVERN MF C1198 HS9F3BKS-SVN
SET OF 6 BRICKS DRY BACK MODEL MUCH WENLOCK C1199 HS9F6BKS-MW
SET OF BRICKS - BOILER MODEL LITTLE WENLOCK MK1 C1194 HS9F2BKS-LW
SET OF BRICKS - DRY BACK MODEL DARBY C1195 HS9F3BKS-DBY
SET OF BRICKS - DRY BACK MODEL LITTLE WENLOCK MK1/2 C1196 HS9F3BKS-LW
SIDE BRICK LH LITTLE WENLOCK MK1 C1026 HS4F405010

SIDE BRICK RH LITTLE WENLOCK MK1 C1028 HS4F405009

SIDE BRICK FOR BOILER MODEL LH LITTLE WENLOCK MK1 C1027 HS4FLW500LH-BM
SIDE BRICK FOR BOILER MODEL RH LITTLE WENLOCK MK1 C1029 HS4FLW500RH-BM
SIDE FIREBRICK LH SEVERN STOVE C1534 HS4F400063

SIDE FIREBRICK RH SEVERN STOVE C1535 HS4F400064
SIDEBRICK FOR BOILER & NON BLR LH DARBY C1023 HS4FD-300-LH
SIDEBRICK FOR BOILER & NON BLR RH DARBY C1024 HS4FD-300-RH
TOP BRICK L.H. MUCH WENLOCK C1395 HS4F403005

TOP BRICK R.H. MUCH WENLOCK C1396 HS4F403006



76C ASHPANS CBD

Description Catalogue No Product Code
ASHPAN LITTLE WENLOCK MK2 C1413 HS1M90290
ASHPAN DARBY C1015 HS1M91425
ASHPAN LITTLE WENLOCK MK1 C1017 HS1M91485
ASHPAN MK2 MUCH WENLOCK C1014 HS1M90295

ASHPAN COMPLETE SEVERN STOVE C1325 HS9M400000-1COM



78C GRATES CBD

Description

ASHSHED LH

ASHSHED RH

BOTTOM GRATE

BOTTOMGRATE

CENTRE SUPPORT BRACKET

CONVERSION KIT-WOODBURNING TO MF-NON BOILER MODEL

SEVERN STOVE
SEVERN STOVE

LITTLE WENLOCK MK1
LITTLE WENLOCK MK2
MUCH WENLOCK STOVE
LITTLE WENLOCK MK2

Catalogue No

Product Code

C1158
C1159
C1080
C1083
C1545
C1405

HS5M-5S430
HS5M-S431
HS5B-WB50021
HS5B3-18259
HS5M-D326
HS9M3-18259NBLR



79C GRATE FRAMES CBD

Description

BOTTOMGRATE FRAME

FIRE BAR CARRIER

FIRE BAR CARRIER

FIRE BRICK & BAR CARRIER SUPPORT LH
FIRE BRICK & BAR CARRIER SUPPORT RH

LITTLE WENLOCK MK2
DARBY

MUCH WENLOCK
MUCH WENLOCK
MUCH WENLOCK

Catalogue No

Product Code

C1172
C1112
C1131
Cl1134
C1135

HS5M1-18265
HS5M-D320

HS5M-MW216
HS5M-MW220
HS5M-MW221



80C BOTTOM BARS CBD

Description

FIRE BAR LOWER

FIRE BAR LOWER

FIRE BAR UPPER

FIRE BAR UPPER

ROCKER BAR

ROCKER BAR

ROCKER BAR

ROCKER BAR SUPPORT BRACKET LH
ROCKER BAR SUPPORT BRACKET RH
SET 10 UPPER 9 LOWER BTM BARS
SET 7 UPPER 8 LOWER BTM BARS
SET OF 7 UPPER 6 LOWER BARS
SPACER BAR

DARBY & SEVERN
MUCH WENLOCK
DARBY & SEVERN
MUCH WENLOCK
DARBY

MUCH WENLOCK
SEVERN STOVE
DARBY & SEVERN
DARBY & SEVERN
DARBY

SEVERN MF STOVE
MUCH WENLOCK
SEVERN STOVE

Catalogue No

Product Code

C1076
C1079
c1077
C1078
Cl111
C1130
Cl151
C1115
C1114
C1183
C1184
Cl221
C1152

HS5B-D353
HS5B-MW213
HS5B-D358
HS5B-MW212
HS5M-D319
HS5M-MW215
HS5M-S416
HS5M-D325
HS5M-D324
HS9B-D358-353DY
HS9B-D358-353SV
HSOMMW?212COM
HS5M-S417



81C FRONT BARS CBD

Description

FRONT BAR

FRONT FIRE BAR NON-BOILER & BOILER US.A.

FRONT FIREBAR

FRONT FIREBAR

FRONT FIREBAR

LOWER SECTION FRONT BAR
UPPER & LOWER FRONT FIRE BARS
UPPER SECTION FRONT FIRE BAR

LITTLE WENLOCK MK1
DARBY

LITTLE WENLOCK MK2
MUCH WENLOCK
LITTLE WENLOCK MK3
SEVERN STOVE
SEVERN MF

SEVERN STOVE

Catalogue No

Product Code

C1162
C1120
C1176
C1180
C1640
C1149
C1212
C1150

HS5M-WB50013A
HS5M-D357
HS5M3-18248
HS5M403000
HS5M405042
HS5M-S413
HS9M-S413A-S413
HS5M-S413A



82C DOOR GLASS CBD

Description

CHANNEL - HORIZONTAL SEAL

CHANNEL - VERTICAL SEAL

FIREDOOR GLASS

FIREDOOR GLASS

GLASS - FIREDOOR 216 X 209 X 5MM

GLASS (FRONT FRAME) - LITTLE WENLOCK TC1
GLASS PANEL MK2

GLASS PANEL-SINGLE-

GLASS RETAINING FRAME

GLASS STRIP ONLY

ONE PIECE GLASS - AIR WASH

PANE OF GLASS 7.1/2" X 3.1/16"

SET 6 GLASS(2-6.3/8X1.9/16,4-6.3/8X1.13/16") MK1
SET OF 3 DOOR GLASS

SET OF 3 FIREDOOR GLASS

SET OF 3 GLASS PANES 7.1/2"X 3.1/16"

SET OF 4 BOLTS FOR GLASS RETAINING STRIP
SET OF 6 GLASS PANES 7.1/2"X3.1/16" L/R

SET OF GLASS

STRIP GLASS ONLY 6.3/8"X 1.13/16"

STRIP GLASS ONLY 6.3/8"X 1.9/16"

WREKIN STOVE
WREKIN STOVE

MUCH WENLOCK MK2
L/WEN MK3

GS1 STOVE

L/W TOTAL CONTROL
MUCH WENLOCK & GS2I
SEVERN MF

L. WENLOCK MK3
LITTLE WENLOCK MK1
L/WEN MK2 , OS1
DARBY

MUCH WENLOCK
LITTLE WENLOCK MK1
MUCH WENLOCK MK2
L/RH FIRE DOOR DARBY
MUCH WENLOCK
FIREDOOR DARBY
SEVERN STOVE
MUCH WENLOCK
MUCH WENLOCK

Catalogue No

Product Code

C1484
C1488
C1054
C1636
C1357
C1803
C1055
C1048
C1635
C1046
C1047
C1053
Cl247
C1243
C1248
C1244
C1256
C1275
C1245
C1052
C1051

JAPRA413045
JAPR413044
HS4M37531
HS4M405048
HG4M410014
HG4M410268
HS4M37539
HS4M30825
HS1M405043
HS4M30820
HS4M30822
HS4M37528
HS9M37527COM
HS9M3-30820
HS9M37531SET3
HS9M3-37528
HS9M4-52570
HS9M6-37528
HS9M30825SET2
HS4M37527
HS4M37526



86C THERMOSTATS CBD

Description

AIR INLET FLAP

AIR INLET FLAP C/W PAD
THERMOSTAT

THERMOSTAT ARM EXTENSION
THERMOSTAT ASSY
THERMOSTAT ASSY
THERMOSTAT BRACKET
THERMOSTAT KNOB CG/QW/152
THERMOSTAT SPINDLE C/P

DARBY STOVE
SEVERN STOVE
R80/30/39- DARBY
SEVERN STOVE
DARBY

SEVERN STOVE
DARBY STOVE
DARBY STOVE
DARBY STOVE

Catalogue No

Product Code

C1070
C1278
C1074
C1021
C1279
C1280
C1071
C1072
C1073

HS1M401035
HS9M90375COMP
HS4T46660
HS2M90376
HS9T46660COMP
HS9T46670COMP
HS2M401032
HS4T34028
HS4T42865



88C BOILER BODIES CBD

Description

BOILER BODY COMPLETE WITH MUDLIDS C.1.

BOILER BODY COMPLETE WITH MUDLIDS V.E.

BOILER BODY MS

STANDARD MUD LID COMP M.WEN.DARBY.CB34.STD BLR

MUCH WENLOCK
MUCH WENLOCK
SEVERN STOVE
RHAP301.201.70B.C.

Catalogue No

Product Code

C1020
C1012
C1540
C1005

HS1W-MW225
HS1E-MW225
HS2Vv400044
FS5MS-M-LID



90C BURNER UNITS CBD

Description

25MM CERAMIC BLANKET FLAME PORT

BURNER COMPLETE ASSY - LPG - LITTLE WENLOCK TC1
BURNER COMPLETE ASSY LPG - REMBRANDT 18" GAS
BURNER COMPLETE ASSY NG - REMBRANDT 18" GAS
BURNER TRAY ASSEMBLY COMPLETE NG
CERAMIC PACK - REMBRANDT 18" GAS

COAL - LARGE - PACK OF 18

INJECTOR - BRAY CAT.92-190

LARGE COALS (PACK OF 6)

SMALL COALS (PACK OF 20)

THERMOCOUPLE

REMBRANDT 18" GAS
L/W TOTAL CONTROL
REMBRANDT 18" GAS
REMBRANDT 18" GAS
COALBROOKDALE GS1
REMBRANDT 18" GAS
GS3I/WREKIN STOVE
CBD GS1I STOVE
REMBRANDT 18" GAS
REMBRANDT 18" GAS
LITTLE WENLOCK

Catalogue No

Product Code

C1717
C1802
C1797
C1798
C1323
Cl1716
C1426

C1715
C1714
C1002

HG4M998683
HG4M410275
HG4M406058
HG4M406051
HG1M410021
HG4M998678
HG4M420674
HG4M410129
HG4M998677
HG4M998676
FG4M46136



95C INSULATION CBD

Description

AIR INLET FLAP PAD

DOOR GLASS LW OIL

FIREDOOR - TRADITIONAL LW OIL
FIREDOOR GLASS LOCATION CHANNEL
FIREDOOR SEAL

FRONT INSULATION BOARD

GLASS FIBRE ROPE FOR FLUE COLLARS
GLASS RETAINING FRAME GASKET
GLASS ROPE 9MM X 550MM

GLASS ROPE 9MM X400MM

NO.4 THERM ROPE 13MM X 980MM FOR FIRE/ASHPIT DOOR

ROPE 9MM X 1000MM THERMOSEAL

ROPE GLASS FIBRE 13MM X 215MM LONG
ROPETHERM NO.2 5X750MM FOR FIREDOOR GLASS
SET OF 1 THERMOSEAL ROPE FOR RH FIREDOOR
SET OF 2 THERMOSEAL ROPES FOR LH FIREDOOR
SET OF 3 THERMOSEAL ROPES FOR RH FIREDOOR
SET OF 4 CHANNELS

SET OF 4 CHANNELS TO SUIT GLASS

SET OF 4 CHANNELS TO SUIT GLASS MK2
SET OF 4 L/RH FIRE DOOR CHANNELS

SET OF 4 THERMOSEAL ROPES FOR LH FIREDOOR
SET OF CERAMIC GASKETS FOR GLASS

SET OF CERAMIC GASKETS FOR GLASS MK1
THERMOSEAL ROPE NO3A X 9 X 1184MM
THERMOSEAL ROPE SEAL NO3A 9MM X 1208LG

SEVERN STOVE

OS1 STOVE

OS1 STOVE

LITTLE WENLOCK MK3
LITTLE WENLOCK MK2
OS1 STOVE

DARBY

L WEN, GS1 STOVES
STOVES

SEVERN STOVE
MUCH WEN MK2 / GS1
OS1 STOVE

DARBY

SEVERN STOVE
DARBY

DARBY

SEVERN STOVE
LITTLE WENLOCK MK2
SEVERN

MUCH WENLOCK
DARBY

SEVERN STOVE
LITTLE WENLOCK MK1
MUCH WENLOCK

GS1 STOVE

LITTLE WENLOCK MK3

Catalogue No

Product Code

C1283
C1764
C1753
C1637
C1230
C1481
C1285
C1672
C1286
C1687
C1284
C1752
Cl741
C1287
Cl1231
C1232
C1233
C1237
C1604
C1249
C1255
C1234
C1238
C1239
C1329
C1644

JAPR30535
HO4M408100
HO5M408067
HS4M405020
HS9M20389COMP
JPAD408014
JTHR20390X12
JTHR20413
JTHR30855
JTHR20467
JTHR20389X980MM
JTHR408114
JTHR20384
JTHR30857X750MM
JTHR20465
HS9M20465SET2
HS9M20465SET3
HS9M26139/49SET
HS9M400054SET4
HS9M37541SET4
HS9M4-26144-5
HS9M20465SET4
HS9M26140COM
HS9M26142COM
JTHR20397X1184
JTHR405050



99C MISC SPARES CBD

Description

ASHPAN COVER
ASHPAN COVER SUPPORT BRACKET

BAFFLE PLATE - BOILER - STAINLESS

BRACKET - STAT SUPPORT 170/40

CEMENT FORTIFIX BLK FIRE (7LB BAG)
CHANNEL 5MM X 5 13/16"

EXPANDED CLAY L955D (0.5KG)

INJECTOR PLATE MOUNTING ASSEMBLY NG
LEG - 4"

MW SPACER BRACKET GERMAN

PACK OF COALS (23)

PR M6 HX FULL Z/P NUTS

PR M6 X 14 WASHER ST ST

PR M6 X 30MM LONG ALLTHREAD

PR M6 X 35 HX SET SCREWS

PR NUT 6MM HX FULL ST ST

ROLL PIN - 1/16" DIA X 3/4" LONG

SCREW C/SUNK HEAD 3/16"BSW X 1 1/2"

SCREW ROUND HEAD 3/16"BSW X 3/8 Z/P

SET OF SCREWS & WASHERS FOR GLASS CLIPS
VANE SWITCH KIT

WASHER 3/16" INT SHAKEPROOF Z/P

CBD GS1 & 0S1
COALBROOKDALE GS1
LITTLE WENLOCK MK2
DARBY M/F C/W BOILER
ALL STOVES

GS1l STOVE

CBD GS1I STOVE

GS1 STOVE

GS1 & OS1 STOVE
MW,SVN,GS3| STOVES
CBD GS1I STOVE

ALL STOVES

SEVERN STOVE

ALL STOVES

ALL STOVES

SEVERN STOVE

GS1 STOVE
REMBRANDT FIRES
REMBRANDT FIRES
SEVERN STOVE

CBD GS1I P/FLUE
REMBRANDT FIRES

Catalogue No

Product Code

C1368
C1364
C1040
Cirr7
C1004
C1633

C1341
C1365
C1472
C1742
C1272
C1273
C1310
C1262
C1271
C1367
C1400
C1401
Cl1674

C1402

HG5M410020
HG2Vv410011
HS2M405033
HS5M-D382
FS4M45252X125
JAPR400056
TCLY410132
FG2M410078
HG5M410010
HS5M-MW256FDR
HG4M420678
HS9M53051PR
HS9M53308PR
HS9M52102PR
HS9M50907PR
HS9M52668PR
KCTR37841
KCSK49700
KRDH51511
HS9M50905SET6
HGOM998365
KWSR53261



	AGA-RAYBURN�COALBROOKDALE SPARES PRICE LIST�EFFECTIVE FROM JULY 2004
	A3C  DOORS          CBD
	A4C  BACK PLATE     CBD
	A5C  CATCHES        CBD
	A6C  FRONT PLATE    CBD
	B1C  TOP PLATE      CBD
	B3C  RIDDLING PARTS CBD
	B5C  SIDE PLATE     CBD
	B7C  BASE PLATE     CBD
	B9C  FLUE DIVERTOR  CBD
	C1C  FLUE PARTS     CBD
	C4C  CBD BNR SPARES GAS
	73C  ACCESSORIES    CBD
	75C  FIREBRICKS     CBD
	76C  ASHPANS        CBD
	78C  GRATES         CBD
	79C  GRATE FRAMES   CBD
	80C  BOTTOM BARS    CBD
	81C  FRONT BARS     CBD
	82C  DOOR GLASS     CBD
	86C  THERMOSTATS    CBD
	88C  BOILER BODIES  CBD
	90C  BURNER UNITS   CBD
	95C  INSULATION     CBD
	99C  MISC SPARES    CBD


	Back: 
	Contents: 
	menu: 
	Forward: 


